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1F 455 X 290 = 1320 | 150 X 095 = 1.43 1177 m
170 X 215 = 3.66 -366 m
410 x 290 = 1189 | 170 X 215 = 3.66 823 m
128 x 290 = 370| 040 x 205 = 0.82 288 m
X1
2F 280 X 120 = 3.36 336 m
175 X 295 = 517 1.70 x 215 = 3.66 151 m
410 X 295 = 1210 258 x 110 = 2.84 926 m
1F 470 X 290 = 1363 | 033 X = 0.38 1325 m
068 x = 0.78 -0.78 m
410 x 290 = 1189 | 278 X = 3.06 883 m
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068 x 110 = 0.75 -0.75
150 X 110 = 1.65 -165 m
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3.66 3.77
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BREE 10811 X 5000 N = 540550 N } 549350 N

BOEE 4400 X 200 N = 8800 N

549350 N/ 15211 m = 3,612 N/m

OK



F12—1. 7 HpERR G

AR — R KO — B (RO 1= NIR)

Loatv/m) [ 100 ]
TR EREEET RS EAN)
L X L(m) Df(m) mmﬁmﬁﬂaﬁ%
1.10 1.20 1.30 140 Hptins L (m) D(m) [
12 109 106 103 100 F112 12 05 7-D13
13 128 124 121 118 F113 13 05 7-D13
14 148 144 140 136 F114 14 05 8-D13
15 170 166 161 157 F115 15 05 8-D13
16 194 188 183 178 F116 16 05 9-D13
17 218 213 207 201 F117 17 05 9-D13
18 245 238 232 225 F118 18 05 10-D13
19 273 266 258 251 F119 19 05 10-D13
20 302 294 286 278 F120 20 05 11-D13
21 333 325 316 307 F121 21 05 11-D13
22 366 356 347 337 F122 22 05 12-D13
23 400 389 379 368 F123 23 05 12-D13
24 435 424 412 401 F124 24 05 13-D13
25 472 460 47 435 F125 25 05 13-D13
26 511 498 484 470 F126 26 05 14-D13
27 551 537 522 507 F127 27 05 14-D13
150
T ER—E HEHERET RS EAKN)
Lx L) Df(m) Eﬁgﬁﬁzﬁmﬁﬂaﬁ%
1.10 1.20 1.30 140 s L (m) D(m) B
12 181 178 175 172 F212 12 05 7-D13
13 212 209 205 202 F213 13 05 7-D13
14 246 242 234 F214 14 05 8-D13
15 283 278 274 269 F215 15 05 8-D13
16 322 316 311 306 F216 16 05 9-D13
17 363 357 351 346 F217 17 05 9-D13
18 407 400 394 387 F218 18 05 10-D13
19 453 446 439 432 F219 19 05 10-D16
20 502 494 486 478 F220 20 05 11-D16
21 554 545 536 527 F221 21 05 11-D16
22 608 598 589 579 F222 22 05 12-D16
23 664 654 643 633 F223 23 05 12-D16
24 723 712 700 689 F224 24 05 13-D16
25 785 772 760 747 F225 25 05 14-D16
26 849 836 822 808 F226 26 05 15-D16
27 916 901 886 872 F227 27 05 16-D16
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LxLm) Df(m) Hﬂgﬁﬂzmum
1.10 1.20 1.30 1.40 s L (m) D(m) [6)
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13 297 293 290 287 F313 13 05 7-D13
14 344 340 336 332 F314 14 05 8-D13
15 395 391 386 382 F315 15 05 8-D13
16 450 444 439 434 F316 16 05 9-D13
17 507 502 496 490 F317 17 05 9-D13
18 569 562 556 549 F318 18 05 10-D13
19 634 627 619 612 F319 19 05 10-D16
20 702 694 686 678 F320 20 05 11-D16
21 774 766 757 748 F321 21 05 12-D16
22 850 840 831 821 F322 22 05 13-D16
23 929 918 908 897 F323 23 06 12-D16
24 1011 1000 988 977 F324 24 06 13-D16
25 1097 1085 1072 1060 F325 25 06 15-D16
26 1187 1174 1160 1146 F326 26 06 17-D16
27 1280 1266 1251 1236 F327 27 06 18-D16
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4P x 2P Dx(mm) 400 450 450
3Px 3P Dy(mm) 400 450 450
3P x 2P XA R ERH 3-D19 4-D22
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8PX3P 7PX3P RG14 TiHER 7-D22 4-D19 3-D19
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FRDMAFER

[#No.] 1 BYS X ( YY(C 0 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m 7.100 m 11.36
BAR - BEEREEGESAT) (MRt 51y 820 2k 6.05 kN/m’ 9.344 m? 56.53
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ 12.016 m? 60.08
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? 3.655 m? 0.73
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ m? 0.00
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 0930 m® 22.32
N 2400 kN/m® 0.128 m° 307
#* 2400 kN/m® 1.206 m* 28.94
183.04
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 9.344 1’ 59.80
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 585 kN/ni 2 0.00
QERERRIT) 490 kN/ni m? 0.00
BERERE) 6.10 kN/ni m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 11.969 m? 59.85
ME (RC, CBLiE) 450 kN/m? m? 0.00
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 3360 m? 0.67
Bt/ )La=— 7.60 kN/ni 4097 m? 31.14
FHEbIE 515 kN/mi 4097 m? 21.10
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 4225 m 14.79
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 1.025 m* 24.60
N 2400 kN/m® 0.142 m* 341
#* 2400 kN/m® 1.206 m* 28.94
@
244.29 427.33
@L&M; R 2400 kN/m® 1717 m? 4121
[IfRiD | BRI 2400 kN/m® 0324 m® 7.78
%%%gé ZDAt(EHENE) 2400 kN/m® 0.142 m® 34 O+@
BEtA 52.39 47973
BT [EEREREWEIUEE () m=
ERL- | R@RE 2400 kN/m® m®
S
st | BERES LA 20.00 kN/m® m’
HERBE 2400 kN/m’ m® D+6

ol - ABRENELORGEEZAVTERET 5.
ZNE-RFRFTTHEBLCHEET B,
REARBROFRER. RELCLTCEEEREEET 5,

BRUREBECEVTIEIERICEALEEROFMEN LREYNEVNES I, TOEICEZLIENTES,




FRDMAFER

[#No.] 2 BYS X ( ) Y( 1 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m 4700 m 752
EBRGESAT) (R#pri 1Y E20.2kN/nis 6.05 kN/m’ 15275 m? 92.41
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ 7.030 m? 35.15
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? 6.130 m? 1.23
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ m? 0.00
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 1.099 m? 26.38
N 2400 kN/m® 0.128 m° 307
#* 2400 kN/m® 1.206 m* 28.94
194.70
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 15275 m? 97.76
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 585 kN/ni 2 0.00
QERERRIT) 490 kN/ni m? 0.00
BERERE) 6.10 kN/ni m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 4688 m? 2344
ME (RC, CBLiE) 450 kN/m? m? 0.00
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 7.203 m? 1.44
Kb/ )La=— 7.60 kN/ni 6.698 m? 50.90
FHEbIE 515 kN/mi 6.698 m? 34.49
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 3800 m 13.30
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 1146 m* 27.50
N 2400 kN/m® 0.142 m* 341
#* 2400 kN/m® 1.206 m* 28.94
©)
281.20 475.90
@L&M; R 2400 kN/m® 2292 m® 55.01
[IfRiD | BRI 2400 kN/m® 0324 m® 7.78
%%%gé ZDAt(EHENE) 2400 kN/m® 0.142 m® 34 ®+@
BEtA @  66.19 542.09
BT [EEREREWEIUEE () m=
ERL- | R@RE 2400 kN/m® m®
S
st | BERES LA 20.00 kN/m® m’
HERBE 2400 kN/m’ m® D+
®

ol - ABRENELORGEEZAVTERET 5.
ZNE-RFRFTTHEBLCHEET B,
REARBROFRER. RELCLTCEEEREEET 5,

BRUREBECEVTIEIERICEALEEROFMEN LREYNEVNES I, TOEICEZLIENTES,




FRDMAFER

[#No.] 3 BYS X ( YYCoC 2 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m 5750 m 9.20
EBRGESAT) (R#pri 1Y E20.2kN/nis 6.05 kN/m’ 5.463 m’ 33.05
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ 8518 m? 4259
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? 2.250 m? 0.45
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ 4097 m? 21.10
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 0511 m® 12.26
N 2400 kN/m® m® 0.00
#* 2400 kN/m® 1.206 m* 28.94
147.60
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 8.075 m? 51.68
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 585 kN/ni 2 0.00
QERERRIT) 490 kN/ni m? 0.00
BERERE) 6.10 kN/ni m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 6.756 m? 33.78
ME (RC, CBLiE) 450 kN/m? m? 0.00
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 7.608 m? 152
Bt/ )La=— 7.60 kN/ni 4097 m? 31.14
FHEbIE 515 kN/mi m? 0.00
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 4300 m 15.05
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 0599 m® 14.38
N 2400 kN/m® 0617 m° 14.81
#* 2400 kN/m® 1.206 m* 28.94
@
191.30 338.90
@L&M; R 2400 kN/m® 1150 m® 27.60
[IfRD |EREERE 2400 kN/m® 0324 m® 7.78
%%%gé ZDAt(EHENE) 2400 kN/m® 0617 m® 1481 D+®
BEtA ® 5018 389.08
BT (EEREREWEIUEE () m=
ERL | R#E 2400 kN/m® m®
S
st | BRES LA 20.00 kN/m® m’
HERBE 2400 kN/m’ m® D+
©)]

ol - ABRENELORGEEZAVTERET 5.
ZNE-RFRFTTHEBLCHEET B,
REARBROFRER. RELCLTCEEEREEET 5,

BRUREBECEVTIEIERICEALEEROFMEN LREYNEVNES I, TOEICEZLIENTES,




FRDMAFER

[#No.] 4 BYS X ( YY(C 0 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m 5600 m 8.96
EBRGESAT) (R#pri 1Y E20.2kN/nis 6.05 kN/m’ 10.853 m’ 65.66
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ m? 0.00
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? m? 0.00
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ m? 0.00
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 0930 m® 22.32
N 2400 kN/m® 0179 m° 4.30
#* 2400 kN/m® 1.206 m* 28.94
130.18
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 7.638 m? 48.88
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 585 kN/ni 2 0.00
BERR(RIFT) 490 kN/nd m? 0.00
BEERR(E) 6.10 kN/mi m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 17.608 m? 88.04
MEE (RC, CB#i@) 450 kN/m’ 11.851 m? 53.33
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 3543 m? 0.71
Bt/ )La=— 7.60 kN/nmi m? 0.00
FHEbIE 515 kN/mi m? 0.00
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 5675 m 19.86
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 1.025 m* 24.60
N 2400 kN/m® 0.199 m° 478
#* 2400 kN/m® 1.206 m* 28.94
@
269.14 399.32
@L&M; B 2400 kN/m® 1717 m® 4121
[IfRiD | BRI 2400 kN/m® 0324 m® 7.78
%%%gé ZDAt(EHENE) 2400 kN/m® 0531 m® 12.74 D+®
BEtA ® 6173 461.05
BT [EEREREWEIUEE () m=
ERL- | R@RE 2400 kN/m® m®
S
st | BERES LA 20.00 kN/m® m’
HERBE 2400 kN/m’ m® D+
©)]

ol - ABRENELORGEEZAVTERET 5.
ZNE-RFRFTTHEBLCHEET B,
REARBROFRER. RELCLTCEEEREEET 5,

BRUREBECEVTIEIERICEALEEROFMEN LREYNEVNES I, TOEICEZLIENTES,




FRDMAFER

[#No.] 5 BYS X ( ) Y( 1 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m 4700 m 752
EBRGESAT) (R#pri 1Y E20.2kN/nis 6.05 kN/m’ 15275 m? 92.41
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ 15.849 m? 79.25
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? 5.585 m? 1.12
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ m? 0.00
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 1185 m? 28.44
INEE 2400 kN/m® 0797 m® 19.13
#* 2400 kN/m® 1.206 m* 28.94
256.81
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 11.078 m? 70.90
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 5.85 kN/mi m? 0.00
QERERRIT) 490 kN/ni m? 0.00
BERERE) 6.10 kN/ni m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 11.340 m? 56.70
MEE (RC, CB#i@) 450 kN/m’ 4230 m? 19.04
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 0.550 m? 0.11
Bt/ )La=— 7.60 kN/nmi m? 0.00
FHEbIE 515 kN/mi m? 0.00
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 0465 m 1.63
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 1313 m® 3151
INEE 2400 kN/m® 0957 m® 2297
#* 2400 kN/m® 1.206 m* 28.94
@
231.80 488.60
@L&M; R 2400 kN/m® 2292 m® 55.01
[IfRiD | BRI 2400 kN/m® 0324 m® 7.78
%%%gé ZDAt(EHENE) 2400 kN/m® 0957 m® 2297 D+®
BEtA ® 8576 574.36
BT [EEREREWEIUEE () m=
ERL- | R@RE 2400 kN/m® m®
S
st | BERES LA 20.00 kN/m® m’
HERBE 2400 kN/m’ m® D+
©)]

ol - ABRENELORGEEZAVTERET 5.
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REARBROFRER. RELCLTCEEEREEET 5,

BRUREBECEVTIEIERICEALEEROFMEN LREYNEVNES I, TOEICEZLIENTES,




FRDMAFER

[#No.] 6 BYS X ( YYCoC 2 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m 3700 m 592
EBRGESAT) (R#pri 1Y E20.2kN/nis 6.05 kN/m’ 3173 m’ 19.20
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ 7.970 m? 39.85
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? 2503 m? 0.50
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ 1.350 m? 6.95
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 0497 m® 11.93
N 2400 kN/m® m® 0.00
#* 2400 kN/m® 1.206 m* 28.94
113.29
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 3173 m? 20.31
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 585 kN/ni 2 0.00
BERR(RIFT) 490 kN/nd m? 0.00
BEERR(E) 6.10 kN/mi m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 5.901 m? 29.51
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 4330 m? 0.87
Kb/ )La=— 7.60 kN/ni 1519 m? 11.55
FHEbIE 515 kN/mi m? 0.00
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 2025 m 7.09
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 0581 m® 13.94
N 2400 kN/m® m® 0.00
#* 2400 kN/m® 1.206 m* 28.94
O}
112.20 225.49
@L&M; B 2400 kN/m® 1118 m® 26.83
lit){ﬁ;% AR 2400 kN/m® 0324 m® 7.78
i})gﬁg Toft D+@
BEtA @ 3461 260.10
BT [EEREREWEIUEE () m=
ERL- | R@RE 2400 kN/m® m®
S
st | BERES LA 20.00 kN/m® m’
HERBE 2400 kN/m’ m® D+
©)]

ol - ABRENELORGEEZAVTERET 5.
ZNE-RFRFTTHEBLCHEET B,
REARBROFRER. RELCLTCEEEREEET 5,

BRUREBECEVTIEIERICEALEEROFMEN LREYNEVNES I, TOEICEZLIENTES,




FRDMAFER

[#No.] 7 BYS X( 1-2 YY(C 2 )
P& [EF] BumE B | H3E BRI WkN) > W(kN)
F | REFEKEEEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) 32.00 kN 0000 & 0.00
185 Rk 1.60 kN/m 3250 m 5.20
EBRGESAT) (R#pri 1Y E20.2kN/nis 6.05 kN/m’ 7.638 m’ 46.21
BERR(RIFT) 490 kN/m? m? 0.00
BERERE) 6.10 kN/m’ m? 0.00
4B (RC, CB#i@) 500 kN/m’ 5.990 m? 29.95
MEE (RC, CB#i@) 450 kN/m’ m? 0.00
P& E ¥ 550 kN/m’ m? 0.00
Ty 0.20 kN/m? 1.828 m? 0.37
AF#Es/\La=—— 7.60 kN/m’ m? 0.00
FHEbIE 5.15 kN/m’ 1249 m? 6.43
RCF#Y 350 kN/m m 0.00
12373 9.00 kN/mi m? 0.00
7 2400 kN/m® 0371 m® 8.90
N 2400 kN/m® 0.199 m° 478
#* 2400 kN/m® 1.206 m* 28.94
130.78
1F  [2BEER  (RERRIHEEIYER0.2kN/ A 6.40 kN/ni 7.638 m? 48.88
12373 9.00 kN/mi m? 0.00
RESEKE(EEED) 190.00 kN 1/ Em G 0.00
INENE 2B 5K 8 (31KN X [E11kN) kN & 0.00
185 Rk 1.60 kN/m m 0.00
EBiRGESHT) 585 kN/ni 2 0.00
QERERRIT) 490 kN/ni m? 0.00
BERERE) 6.10 kN/ni m? 0.00
BR (H17) 6.90 kN/mi m? 0.00
4B (RC, CB#i@) 500 kN/m’ 5.654 m? 28.27
ME (RC, CBLiE) 450 kN/m? m? 0.00
P& E 2% 550 kN/m’ m? 0.00
Ty 0.20 kN/mi 1.828 m? 0.37
Bt/ )La=— 7.60 kN/mi 1519 m? 11.54
FHEbIE 515 kN/mi m? 0.00
a3 7.60 kN/mi m? 0.00
RCE#Y (/\)La=— KEBTF) 350 kN/m 2025 m 7.09
RCFY (—H R 6.00 kN/m m 0.00
1BER (RS TFIFA) 620 kN/m’ m® 0.00
7 2400 kN/m® 0464 m® 11.14
N 2400 kN/m® 1.015 m® 24.36
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